R2 A AIMAER xlsx

7R5 BARTAR

56, — kAR [BRE RS (£31)
HR5EH = Hifif | ##2 | $4% | HE | €% | H=5| <8 EE
78228 |k k 110 22 | 2,420 0 22 | 2,420
7A278H|FXE 110 16 [ 1,760 0 16| 1,760
78288 |Fk 110 22 | 2,420 8 880 14| 1540
7A318|kE 110 19 [ 2,090 0 19| 2090
7A31B[E—<> 100 11 1,100 0 11 1,100
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
<k 110 79| 8,690 8 880 71 7,810
E—<v 100 11 1,100 0 0 11 1,100
it 90 9,790 8 880 82 8,910




R2 A AIMAER xlsx

8 A 15N ARSEAER

56, — @A ER5T 5P S fR5E (£51)

fR5EH an B Hifi | %8 | £%8 | HE | £ | ¥E | &8 EE
8H4H|FYH 110 18 1,980 0 0 18 1,980
8H4B|E—<> 100 14 1,400 0 0 14 1,400
8A5SH|E—<> 100 11 1,100 11 1,100 0 0
s8A7R|E—<> 100 18 1,800 0 0 18 1,800
8H7H[FYH 110 10 1,100 0 0 10 1,100
s8A1IB|E—<> 100 16 1,600 16 1,600 0 0
8H12H|F<k 110 16 1,760 0 0 16 1,760
8H17H|FRHE 110 17 1,870 0 0 17 1,870
s8H17H|E—<> 100 9 900 0 0 9 900
8H18H|FTH 110 20 2,200 2 220 18 1,980
8H18H|E—<> 100 6 600 1 100 5 500
8H21H|FTH 110 30 3,300 3 330 2] 2,970
8A21H|E—<> 100 7 700 1 100 6 600
8H25H|FTH 110 15 1,650 5 550 10 1,100
8H25H|E—<> 100 16 1,600 10 1,000 6 600
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
e 110 126 | 13,860 10 1,100 116 | 12,760
E—<> 100 97 9,700 39 3,900 58 5,800
it 223 | 23,560 49 5,000 174 | 18,560




R2 A AIMAER xlsx

9 A 5N ERSENER

56, — kAR [BRE RS (£31)

HR5EH = Hifif | ##2 | $4% | HE | €% | H=5| <8 EE
9F28|k<k 110 15| 1,650 0 0 15| 1,650
9A2H[E—=> 100 11 1,100 0 0 11 1,100
9F148[E—<> 100 20| 2,000 0 0 20 | 2,000
9A18A[E—<> 100 16 [ 1,600 10 [ 1,000 6 600
9A18H|FTk 110 2 220 0 0 2 220
9F28B|E—<> 100 8 800 5 500 3 300
0 0 0 0
0 0 0 0
<k 110 17| 1870 0 0 17| 1870
E—<v 100 55| 5,500 15| 1,500 40 | 4,000
it 72 7,370 15 1,500 57 5,870




R2 A AIMAER xlsx

10 AR 5AERFEAER

56, — kAR [BRE RS (£31)

HR5E H = Hifif | ##2 | £4% | HE | €% | H=5| =8 &%
10828 |E—=> 100 13| 1,300 10| 1,000 3 300
10A58|E—<> 100 10 [ 1,000 0 0 10| 1,000
10898 |E—=> 100 9 900 2 200 7 700
10A12B|E—<> 100 6 600 0 0 6 600
104208 |E—<> 100 6 600 3 300 3 300
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
E—<> 100 44 | 4,400 15| 1,500 29 | 2,900
0 0 0 0 0 0
it 44 | 4,400 15 1,500 29 2,900




R2 A BlIAER xIsx
11 AR ERERFT AR

56, — MM TERSE [$5MHEE R (£3))

HR5E H = Hifi | %8 | £%8 |¥&5 | €8 | K5 | <4 EE
1MA28|E—=> 100 5 500 0 0 5 500
HANE[ZayalY— 60 5 300 0 0 5 300
HA1RE|[E—<> 100 6 600 0 0 6 600
118138 (7 ayal— 60 11 660 6 360 5 300
11168 (7Oyal— 60 21] 1,260 0 0 21] 1,260
118188 (7@yal— 60 19] 1,140 0 0 19 1,140
118208 (78yal— 60 58| 3,480 37] 2220 21] 1,260
118248 (7 Oyal)— 60 46| 2,760 15 900 31] 1,860
118258 (78yal)— 60 21] 1,260 21] 1,260 0 0
118278 (7 @ayal)— 60 39| 2340 25| 1,500 14 840
11H278 |8 4F GAR) 100 34| 3,400 13] 1,300 21] 2,100
118308 (7ayal— 60 48| 2,880 48| 2,880 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E—<> 100 11 1,100 0 0 11 1,100
Joyal)— 60| 268| 16,080 | 152 9120| 116| 6,960
H¥ GAR) 100 34| 3,400 13| 1,300 21] 2,100
0 0 0 0 0 0
&t 313] 20,580 165 10,420| 148] 10,160




R2 A BlIAER xIsx
12 AR 5ERERFTAER

56, — MM TERSE [$5MHEE R (£3))

HR5E H = Hifi | %8 | £%8 |¥&5 | €8 | K5 | <4 EE
12428 |7Ayal— 40 39| 1,560 28] 1,120 11 440
12A3H|7Aayaly— 40 20 800 0 0 20 800
12A4H |8 ¥ GAR) 100 32] 3,200 24| 2,400 8 800
12448 |7ayal— 40 51| 2,040 37| 1,480 14 560
12A78|7Ayal— 40 60| 2,400 45| 1,800 15 600
12A88 |[H+F GA%) 100 50[ 5,000 35 3,500 15| 1,500
12A9H|7Ayal— 40 47| 1,880 47| 1,880 0 0
12A98 |5+ GA%) 100|  142| 14,200 71| 7,100 71] 7,100
128108 (7 @vyal— 40 11 440 0 0 11 440
128 11B|BRrX @R{FE=| 100  117] 11,700 43| 4,300 74| 7,400
128118(7ayal— 40 67| 2680 63| 2,520 4 160
12811H[> 3948 210 27| 5,670 1 210 26| 5,460
128148 (7 8val— 40 36] 1,440 27| 1,080 9 360
128158 (7 @yal)— 40 26| 1,040 0 0 26| 1,040
12R16H (>3 A 210 18| 3,780 10[ 2,100 8| 1,680
128188 (7 @yal)— 40 10 400 5 200 5 200
12818H|[EARX (4B{+E|  100|  144| 14400| 133 13,300 1] 1,100
128218 (7@yal)— 40 21 840 16 640 5 200
12218 (>32h 210 25| 5,250 2 420 23] 43830
128228 | (#R{F+=|  100] 150| 15,000 150[ 15,000 0 0
128248 |8 RX ABHE[  100[ 221 22100 | 115] 11,500 | 106| 10,600
128258 (7 @yal)— 40 21 840 0 0 21 840
128288 (7 Oval— 40 10 400 0 0 10 400
0 0 0 0
2aof 210 70[ 14,700 13| 2,730 57[ 11,970
Jayal)— 40| 419| 16,760 | 268| 10,720 | 151| 6,040
H¥ GAE) 100| 224| 22,400 | 130| 13,000 94| 9,400
BrX (BfE[ 100]  632] 63,200 441| 44,100 191] 19,100
&t 1,345 | 117,060 | 852 | 70,550 | 493 | 46,510




R2 A AIMAER xlsx

1A 5MERSENER

56, — MM TERSE [$5MHEE R (£3))

HR5E H = Hifi | %8 | £%8 |¥&5 | €8 | K5 | <4 EE
1A78|7Aayay)— 40 4 160 0 0 4 160
18138 |7ayal— 40 7 280 0 0 7 280
1A198 | F (@RftE| 100 65| 6,500 54| 5,400 1] 1,100
1208 |5+ F @R{FE[ 100 64| 6,400 5 500 59| 5,900
1A218|BR¥F (AB{FE[ 100 25| 2,500 25| 2,500 0 0
1258 |5+ F @R{FE[ 100 64| 6,400 20[ 2,000 44| 4,400
1H268|BR¥ (AB{FE[ 100 7 700 7 700 0 0
18268 |7Aayal— 40 27| 1,080 20 800 7 280
18278 |7Ayal— 40 14 560 0 0 14 560
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
Joyal)— 40 52| 2,080 20 800 32| 1,280
BR¥ (#B{FE|  100]  225| 22,500 111] 11,100 114] 11,400
0 0 0 0 0 0
0 0 0 0 0 0
H 277| 24580 131[ 11,900] 146] 12,680




R2 A AIMAER xlsx

2 A 5N ERFENER
56, — AR [SBRBE R (E5))
HR5E H = Hifi | %8 | £%8 |¥&5 | €8 | K5 | <4 EE
2A48(FOoyal— 40 7 280 0 0 7 280
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
Joyal)— 40 7 280 0 0 7 280
0 0 0 0 0 0
0 0 0 0 0 0
&t 7 280 0 0 7 280




R2 A AIMAER xlsx

3A 7 ENERFENER
56, — MM TERSE [$5MHEE R (£3))
HR5E H 1= Hifi | %8 | £%8 |%&E | €8 |5 | <& EE
3A4B |8 F (BfFZE| 100] 123| 12,300 66] 6,600 57| 5,700
3ASH|EARFX (4B#HE[ 100  133[ 13,300 133[ 13,300 0 0
3A12B[ERF (AR{FE[ 100[ 108| 10,800 78| 7,800 30| 3,000
SA19B[BRFGR{FE[ 100 98[ 9,800 75 7,500 23| 2,300
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
B (4B 100 | 462 | 46,200 | 352 | 35200| 110| 11,000
&t 462 | 46,200 | 352| 35200| 110| 11,000




